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Topic:- Child Development & Pedagogy (CDP)

1) Is associated with retardation in various aspects of development / fawra & faftm W&ﬁ ¥ Hear d ﬁé’f %l
1. Medium Intelligence / H%m:rqiﬁ

2. No Intelligence / CaE] Tg’@ Tal

3. Higher Intelligence / 3 Tg’@

4. Lower Intelligence / ﬂa@@

Correct Answer :-

» Lower Intelligence / Tl’d@@

2) In child centred education, what the child has to learn should be / W—%ﬁﬂ ﬁT&'ﬁ ﬁ, g B Sl JRaHT EIT%Q’, dg ﬁ'l:l'lﬂ'\‘:l'l?
ST AMLT:

1. Judged through activities ATfAtET & A 3

2. Judged by the scores of their test results/3b TRI&T TRUTHI & bl

3. Judged according to the ability, interest, capacity and previous experience of the child /] Y A, i, & IR s 3‘]?1‘1-[33'7 AR
4, Judged according to the previous experience of the child A & s 3@”337 SIN

Correct Answer :-

« Judged according to the ability, interest, capacity and previous experience of the child /a1 A1, B, &mar ofR fUsa C’!ﬂ“—ﬂa; SR

3) Child centred education typically involves: / dT¢T Pioa fRrem & ey IR R =1 =fre Biem %:
1. on the spot assessments/gRd T o W i

2. no Assessments/dTg i ol

3. more summative assessments/3f18c ANTHD Hedich

4. more formative assessments /(T8I TITHSD HAipT

Correct Answer :-

« more formative assessments /31e/@ XAATHD i

4) Which of the following are features of progressive education? / Frafafed & S s=-@ wifaeha e Eﬁﬁ'ﬂ'ﬂﬁﬂ!%”
1. Instructions based solely on prescribed text books = Faa Fuffa areg W TR 3R 1 81

2. Flexibility on the topics that the student would like to learn/3 fowal o e (ﬁmﬁﬁ'ﬁ‘b IEIE R CEIl aﬁ»’a % |

3. Emphasis on lifelong learning and social skills/STta T=T ST 3R ArAIfoT PR TR SR ST

4. Emphasis on scoring good marks in examinations/TITSHT F 3 3 T TR AR &A1

Correct Answer :-

« Emphasis on lifelong learing and social skills/STTaH TR~ AT SR AR HI=E W SR ST

5) Performance intelligence is measured by: / mﬁ' §® Casciokd GIRT HIYT SITdT %z
1. Verbal Ability/ TRID &l

2. Comprehension / JHY
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3. Numerical Ability / SRSATHD &HT
4. Picture Arrangement / o a=

Correct Answer :-

« Picture Arrangement / o AR

6) "A thing can be learnt by the study of it as a totality" This statement is based on which learning theory / "Wﬁﬁﬁ\‘lﬂﬂ?ﬂ%w

T 5P g | AT o Har 21" 98 S 5 Rieror Rigia wr emuia &:

1. Instrumental conditioning / S@Eﬂﬁﬂﬁ"’[

2. Insight Classical conditioning/ el frRufdigd PIGCINENERNIFE TP mﬁ'ﬂ)
3. Trial and Error/ W—?ﬂ% fafar

4. Classical Conditioning/ feRufaf¥a EIRCTE] (a?ﬂﬁlw mﬁm’)

Correct Answer :-

« Classical Conditioning/ mﬁm (EK'ITW HaIRIT)

7) The word ‘consistency’ is associated with: / XTeq “HTH” ?{\‘Iﬁ'\‘ﬁﬁlﬁ%
1. Personality / Hfgaa
2. Attitude / FAIGI

3. Intelligence / §@'

4, Motivation / U0

Correct Answer :-

« Personality / wfdaa

8) The prejudice against a person on the basis of sex of that person is i W?ﬂ%ﬁ?ﬁm?ﬁ YR R, 39 Afed & fFars

qatue (qarur) E]

1. Gender stereotype / QT Tfgaadl (S8R WIRACIZT)
2. Gender bias / ARIH VGHTT (SIS TZ3H)

3. Gender identity / SifiTe UGTI (SieR ST

4. Gender issue / iR HET (SISX &)

Correct Answer :-

« Gender bias / Qi WEHTT (SIS TT33[)

9) The smallest bone i.e. stapes in the human body is in the ear. /ATd YRR & T BT Ea'_gpf Bl Eackd get %I
1. Inner / 3{cX

2. Middle / S #

3. None of these / —sﬂff I Eﬁl§ :|—E§T

4. External / dlgX

Correct Answer :-

« Middle/dT &

10) The last stage of psychosocial development is / AT fas @1 sifaw =T % -
1. Identity v/s. Confusion / Ug I d-1H YH

2. Trust v/s. Mistrust / fa8ma &1 sifaym
3. Generativity v/s. Stagnation / 3GIRdl §-TH d&Xld
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4. Integrity v/s. Despair / 3RIS I STH ENE]

Correct Answer :-

« Integrity v/s. Despair / RISl SH R

11) The study of same children over a period of time is known as study. /T fraffea awa &t safy & e an s=i &
T B T & = H F1 S B

1. Longitudinal / 33¢#d (@i=Tiegsa)

2. Cross-sectional / U SAIAD (1T AR
3. Latitudinal / SH&T (dtegsTa)

4, Experimental / Pleiiics

Correct Answer :-

« Longitudinal / S@d(ﬁ\%" LSA)

12) Which of the following is a limitation of Eclectic counselling approach? /ﬁaﬁﬁgaﬁﬁﬁm@ﬂuﬁmﬂﬁ WRERT 2w
ERAGED PrSTCHT THE) B JHT 82

1. requires highly skilled counselors to handle the dynamic feature of this counselling approach / T8 R ERDHI0 BT TATHD a=war B
Ffd S & 1T il HRIe IRERIcTars] &1 Saxadhdl gidi g |

2. more flexible approach of counselling / TRTERf & SHfdw @W P
3. more cost effective & practical approach / 3t qHTdt SR T EBHT0T
4. more objective & coordinated approach of counselling / RIS & 31fer @6 SR Tafad e

Correct Answer :-

« requires highly skilled counselors to handle the dynamic feature of this counselling approach / @9 R ERHI0 BT TaTHD =S B
A oA & e sraftie S wRRardrsl @f sfawadd gidl gl

13) Which of the following is the best way the teacher can guide children with special needs in school education? /FafafET ¥ em-

1 i & o o Rreres faemerdt e & faRiw saxawarasil ar@ o=t &1 Aniexi #% a5 &2
1. Give higher challenging tasks / 3{fe/& TGOl Bref ST

2. Give more tests / 3@ TIefOr &A1

3. Providing support and tips / GEURT 3R d &1

4. Provide more homework /31 g1 Ual &1

Correct Answer :-

« Providing support and tips / TN 3fR geiid Sl

14) Which of the following is an example of a lower order need in Maslow’ hierarchy of needs? Fafafead s DI AT A P
STaLgHAISA] &b USIpH § FUaH HH F STa=addT $T TP 360 82

1. Bsteem needs / T B1 S{aYH g

2. Self-actualization needs / SITH-a¢ D KICEEETIIMY

3. Safety needs / GR&/ I HIRYDH AT

4. Love and belongingness needs / TR Td 30U P SHIIIDHATY

Correct Answer :-

« Safety needs / &I B HTTIHAIT

15) Which among the following types of intelligence would be most used when trying to navigate through traffic? /ﬁ'ﬂﬁlﬁﬂ' A g
UPR B ik BT SUTNT, AT P ATHH F AfATIe B D1 DI Hd IH7Y fopar smeam?

1. Naturalistic intelligence / T A ardl gfe
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2. Spatial intelligence / Pﬂﬁ?ﬁg@
3. Interpersonal intelligence / sfadafaas Tg'@
4. Emotional intelligence / Wg@

Correct Answer :-

« Spatial intelligence /W@@

16) A child receives a star for every correct answer she gets. What reinforcement schedule is being used? / EE&H%E?'\‘I’E?[ IWE

e v weR firear 8 | fra gedievor sraRget &1 SuahT frar s veT 82
1. Variable ratio reinforcement schedule / GRAT SREIG) {mﬁw 3‘@@
2. Intermittent reinforcement schedule / STARTAD ﬁ?ﬁﬁw S{W

3. Partial reinforcement schedule / 3fifRTe WUT Gﬂﬁﬁﬁ

4. Fixed ratio reinforcement schedule / TS SfUTdt WUT W

Correct Answer :-

« Fixed ratio reinforcement schedule / FIf3id S EEIG] ﬁ?ﬁﬂwﬂf Sifﬂi_tﬁ

17) One of the characteristic features of a Constructivist unit of study is that: / G{Wﬁ'@ AATHD G EWI'Q @t Th ﬁf«ﬁmu‘s
2t

1. It starts with what children know as an effective departure point for the lessons. /sﬂibof QX 3T sﬂﬁ E’R‘ﬁ % EEERIGED FQ'I'E{ TUh T
TR fig & & F 1 S 8 |

2. Tests and assignments are aimed only at assessing the lower order thinking skills. / STl (%E') 3R Fga srf (sms:lﬁ?) P13 Had g
R A BN BT SATHA HRAT BIell 3|

3. It is propagated solely through teacher instruction. /A8 q;UTﬂ: e & 821 % A1y 3 y=d fvar srar g1
4. Asking questions is discouraged in the learning process. / U4 ISl SHTTH B Ufchan T galeTiod FRAT g

Correct Answer :-

« It starts with what children know as an effective departure point for the lessons. /sﬂﬁ RR ST m—iﬂ?ﬁ %ﬁv— I U6 %ﬁ’mw YTt
TR fig S SR AT |

18) Reading skills can be best developed by: / U3+ SIRIeT DI 5 UThdT gRT HaY 3! ave faoiRrd far S gwar g:
1. Writing answers / 3tX fora

2. Playing word games /doing quizzes / g8 T G/ fevet el
3. Focusing on the use of words in the text / UT& T eg] &b IUURT WR A Digd BT
4. Doing vocabulary exercises / T[EITA! 3T HRAT

Correct Answer :-

« Focusing on the use of words in the text / U183 H Usdl & IYIN W) &M Hfaa s

19) Irrespective of the kind of impairment, all children are capable of: / fHelt WopTR Tt srawfan & Fras(e, ¥t o= o & wem gia

1. Movement / Id4
2. Hearing / T;Hef

3. Learning JAsiree
4. Seeing / ERCE|

Correct Answer :-

» Learning/ e
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20) What are inborn patterns of behavior that are biologically determined also called? / HAER & S Hold 3 ot olta-fag &
IR Fufa 8 8, 3% g earomar 2

1. 1d /Ygdld

2. Drives / Qg9

3. Instincts / gl JTT
4. Intelligence / Gl

Correct Answer :-

» Instincts / Jg9l AT

21) What are the symptoms of Post- traumatic stress disorder in children? [t B ug-3mard a91d faer ('CnW ﬁﬁﬁfﬁéﬂ
fewaiidy) d aeman g2

1. Avoiding places or people associated with the event./ YcHl J Tﬂé RIERIRECE

2. Having to think about or say something over and over. / §R-§R $& g A1 F9D IR F G|
3. Not have an interest in other people at all. / _g'(ﬂﬂ A W ISEEKE

4. Becoming annoyed with others./ m REINEEE!

Correct Answer :-

« Avoiding places or people associated with the event./ mﬁq@‘ B INREEEI

22) What type of theory is one that proposes that development depends on things that are inherited through genes? / {9 YR BT

Rrgia e wga ®xan @ & e 3 <ol R Ak @war € Y of= & weaw & 9xmira €2
1. A deterministic theory / U fafaarg Rigia

2. A social theory / T THI® Rigid

3. A nature theory / Udh EIE!?‘I?W g

4. A nurture theory / U@ UTaH-UI9oT Rigid

Correct Answer :-

o A nature theory / U m ﬁl@ﬁ

23) What type of thinking is associated with creativity? | Tora wopR @1 fria= HTSFITZﬁ?I?I'I T e giar %?
1. Convergent thinking / SRR 9

2. Divergent thinking / 3¢ =

3. Insightful thinking /3fTE S TId (FTAZC P AT

4. Transductive thinking / gRAT S I @:mm ﬁlﬁb—ﬂ)

Correct Answer :-

« Divergent thinking / 3{¢RT I

24) ‘Who introduced the theory of Universal Grammar in language development?/ Wﬁa"mﬁqﬁaﬁﬁmﬁ?ﬁaﬁaﬁmﬁr
1 faam?

1. Piaget / oSt

2. Vygotsky / CIRIGSED]
3. Skinner / RHR

4. Chomsky / DT

Correct Answer :-

o Chomsky / IR

Page- 5



25) Intelligence is a product of both and environment./ m, eﬁvlm'awaﬁrmw m%l

1. Culture / Wﬁ‘f
2. Community / I
3. Heredity/ @naaﬁw

4, Society / JHIS

Correct Answer :-

» Heredity/ Wﬁlw

26) The Minnesota Paper Form Board test is a test which measures one’s i e TR B 91 udlan , Th
e & it fpeft @t H AT B

1. Verbal Reasoning/ s ah
2. Aptitude/ TrTar

3. Personality/ fdda

4. English Skills / 3/3Sh SIRra

Correct Answer :-

« Aptitude/ Eaceorel|

27) A student is asked to find different methods to evaluate the value of pi. This would mainly involve which of the following operations? /
TS BT S WIS & A BT Yedich1 B & fore fafir yumreht &1 3ra #33 & forg we1 wiar 8 1 599 4o w0 @ Fafif@a 7 3
DI T SITUNR QT g

1. Evaluation /H\F{ITEF'T

2. Convergent thinking / ST R
3. Divergent thinking / TR fRida

4. Learning / SIT&RTH

Correct Answer :-

« Divergent thinking / SR fefaH

28) Classical conditioning was developed by: / FATRIET B RN (RRUTIET AR e a1 Ieta srgaes) Fa & & frad
g1 e o mar g:

1. Bandura / SUGRT
2. Pavlov / TTGId

3. Kohler / DIgeR
4. Piaget /W

Correct Answer :-

. Pavlov/tﬂﬂ?ﬁ—d

29) Selecting specific stimuli through sensation is a characteristic of: / TFae-T & "reaw ¥ RARY ST &1 957 1 o1 aiftraamr 2:
1. Attention / 3d¥Y

2. Critical thinking / T8 fela

3. Concept / IGYURTM

4. Perception /S

Correct Answer :-

« Perception /@fﬂ
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30) Animism is the belief that everything that exists has some kind of consciousness. Which of the following does not describe the idea of
Animism in children at the pre-operational stage of development? / '\‘Iﬁﬁqﬂ'l'd qg ﬁ"dm % fo = P ot 'FﬁTr[q' % IH frdl U R Ft
a1 21 Faffea 3 @ @ e & gd-uRemeq TR w® T § gaidde & IR o1 9o T8 eear g2

1. A child who hurts his leg while colliding against a chair will happily smack the ‘naughty chair’./ Tp s=dl o Th Wﬁ THIA gl R
@1 dIc Ugaral 8, G ¥ YRR Gl B e 3|

2. A child dresses up as ‘fireman’ for a fancy-dress competition / it %ﬂ TfrfiTar & e ues s BRREA & 0§ TR a1 5
3. A high mountain will be thought of as ‘old’/ U& % Gad &1 'GRIT T ST
4. A car which won’t start will be described as being ‘tired” or “i1l’/ Teh DR T Y= g1 [T ST I "YebT G AT 'SHHR' ST ST

Correct Answer :-

A child dresses up as ‘fireman’ for a fancy-dress competition / Bt 3? yfaafar & 1%111 Udh ddl BIEREA & w0 H JOR Eﬁ?ﬂ %l

Topic:- General English(L1GE)

1) Fill in the blanks with the correct option in the given sentence:

According to your advertise--, your guides are knowledge-- and experienced, but | found them to be otherwise.

1. --ing...--d
2. --ly ... -ing
3. --ment ...--ly

4. --ment ... --able

Correct Answer :-

s --ment ... --able

2) Fill in the blank with the correct option in the given sentence:

A person who is an outgoing person is an extrovert and the opposite kind of person is an -- vert.
1. intro--

2. intra--

3. semi--

4. homo--

Correct Answer :-

« intro--

3) Choose an appropriate modal for the given sentence:

Why did you stay at a hotel in Mumbai? You ________ have stayed with your friend, Manish.
1. must

2. would

3. could

4. ought

Correct Answer :-

* could

4) Choose the most suitable pronoun for the given sentence:

The teacher asked, “Who has the box?” Jessica said, “I have ____ 7.
1. she

2. he

3. us
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4. it

Correct Answer :-

5) Choose the appropriate tense to fill in the blank in the given sentence:
Rudra a party this Saturday.

1. has been giving

2. was giving

3. gave

4. is giving

Correct Answer :-

o is giving

6) Choose the appropriate conjunction for the given sentence.
I have been working all night, I feel tired.

1. Since

2. Whereas

3. Why

4. So that

Correct Answer :-

« Since

7) Choose the appropriate antonym for the highlighted word in the given sentence.
Different methods are used to assess a gifted child.

1. inept

2. brilliant

3. accomplished

4. lazy

Correct Answer :-

« inept

8) Choose the appropriate determiners to fill in the blanks for the given sentence:
There are _____ mistakes in your composition. Please correct ___ of them and resubmit it.
1. any, some

2. much, any

3. some, all

4. few, any

Correct Answer :-

* some, all

9) Choose the appropriate option that rewrites the given sentence in its passive voice.
People regard my parents as an ideal couple.
1. My parents are regarded as an ideal couple

2. My parents were regarded by the people as an ideal couple.
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3. My parents is regarded by people as an ideal couple.

4, My parents are being regarded as an ideal couple by people.

Correct Answer :-

* My parents are regarded as an ideal couple

10) Choose the appropriate synonym for the highlighted word in the given sentence.
Professional athletes demonstrate a high level of skills.

1. prove

2. adapt

3. act

4, display

Correct Answer :-

» display

11) Choose the appropriate prepositions for the given sentence:

Cosmic rays can not only damage the front end _____ a rapidly moving spaceship but also go _____the ship and astronauts themselves.
1. on..by

2. at...into

3. for ... with

4, of ... through

Correct Answer :-

» of ... through

12) Choose the option that best explains the highlighted expression:
*Make it snappy, will you? I don't have all day’.

1. talk fast

2. snap a bite

3. break into a run

4, end the matter quickly

Correct Answer :-

« end the matter quickly

13) Choose appropriate article for the given sentence:
Copperis____ useful metal used for various purposes for ages.
1. no article

2, the

3.an

4. a

Correct Answer :-

14) Choose appropriate articles for the given sentence:
When ___ forest is cut down, there is nothing left to create or protect ___soil.
1. the..a

2. the ... no article required
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3.a..the

4. no article required ... the

Correct Answer :-

15) Which of the following options best combines the given sentences?
I was five years. I live with my uncle.

1. Since I was five, I have lived with my uncle.

2. T was five when my uncle lived with me.

3. Ever since I was five, I have been living with my uncle.

4, I am living with my uncle when I was five years.

Correct Answer :-

« Ever since I was five, I have been living with my uncle.

16) What changes, if any, should be made to the given sentence to make it active voice?
The winning home run was hit by the worst player on the team.

1. The winning home run had been hit by the worst player on the team.

2. The winning home run was hit by the team’s worst player.

3. The winning home run was hit by the worst player on the team.

4. The worst player on the team hit the winning home run.

Correct Answer :-

o The worst player on the team hit the winning home run.

17) Choose the right tag:

The students promised to repay the money within three months, ?
1. didn’t they

2. do they

3. do they not

4, did they not

Correct Answer :-

» didn’t they

18) Choose the right tag:

Don’t get your feet wet, ?
1. do you

2. will you

3. aren't you

4. won't you

Correct Answer :-

» will you

19) Choose the option that substitutes the given phrase appropriately
A very concentrated ray of light
1. A lightening

2. Alaser
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3. Abeam

4, A flame

Correct Answer :-

« Alaser

20) Choose the appropriate tenses to fill in the blanks in the given sentence:

How long you French?

1. have, been learning
2. was, learned
3. had, learning

4. are, have

Correct Answer :-

* have, been learning

21) Choosc the appropriate indirect speech sentence that corresponds to the given direct speech:
Mother said to me, ‘Be quiet! The baby is sleeping.’

1. Mother told me to keep quiet as the baby was sleeping.

2. Mother told me to keeping quiet as the baby is sleeping.

3. Mother told me keep quiet as the baby sleeps.

4. Mother said to me to keep quiet as the baby slept.

Correct Answer :-
» Mother told me to keep quiet as the baby was sleeping.

22) Read the sentence carefully and choose the option that has an error in it:

All his scheme to murder the king ended in smoke.

1. to murder the king

2. ended in smoke.

3. All his scheme

4. No error

Correct Answer :-

» All his scheme

23) Read the passage carefully and answer the question given below:

Mr. Viswom is a man of exemplary character, impossible to reach at any price. Forests of great value are secure under his ministerial supervision. Realty
contractors imputed a shady role to the minister in the Merchiston Estate episode. It was found to be without foundation and the minister was cleared by the
High Court in a powerful pronouncement. A perusal of the judgment confirming the favourable findings of the Sessions Judge should normally be enough to
liquidate all possible suspicions that were sought to be created to malign his name. His character is the straight minister's great asset.

That is why I wish to emphasize that whatever be one's view about the minister's ideology or the general reputation of the Forest Department, the
inalienable integrity and credibility of Mr. Viswom are beyond doubt.

This is my conviction, and is based on my relations with him and the clear inference available from the judgment. I strongly feel that the public should
abolish the libellous traces from his reputation.

I belong to no party and am critical of infirmity in government, whenever I observe any flaw. But truth must be told. Everyone has a right to his reputation.
According to the passage, who accused the minister of wrong doing?

1. The contractors
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2. The public
3. The courts
4. The opposition parties

Correct Answer :-

¢ The contractors

24) Read the passage carefully and answer the question given below:

Mr. Viswom is a man of exemplary character, impossible to reach at any price. Forests of great value are secure under his ministerial supervision. Realty
contractors imputed a shady role to the minister in the Merchiston Estate episode. It was found to be without foundation and the minister was cleared by the
High Court in a powerful pronouncement. A perusal of the judgment confirming the favourable findings of the Sessions Judge should normally be enough to
liquidate all possible suspicions that were sought to be created to malign his name. His character is the straight minister's great asset.

That is why I wish to emphasize that whatever be one's view about the minister's ideology or the general reputation of the Forest Department, the
inalienable integrity and credibility of Mr. Viswom are beyond doubt.

This is my conviction, and is based on my relations with him and the clear inference available from the judgment. I strongly feel that the public should
abolish the libellous traces from his reputation.

I belong to no party and am critical of infirmity in government, whenever I observe any flaw. But truth must be told. Everyone has a right to his reputation.
‘What is the main theme of the passage?

1. Money making trends by forest officials

2. Money making tactics by politicians

3. Political rivalry among ministers

4. A minister's proven integrity

Correct Answer :-

» A minister's proven integrity

25) Read the passage carefully and answer the question given below:

Mr. Viswom is a man of exemplary character, impossible to reach at any price. Forests of great value are secure under his ministerial supervision. Realty
contractors imputed a shady role to the minister in the Merchiston Estate episode. It was found to be without foundation and the minister was cleared by the
High Court in a powerful pronouncement. A perusal of the judgment confirming the favourable findings of the Sessions Judge should normally be enough to
liquidate all possible suspicions that were sought to be created to malign his name. His character is the straight minister's great asset.

That is why I wish to emphasize that whatever be one's view about the minister's ideology or the general reputation of the Forest Department, the
inalienable integrity and credibility of Mr. Viswom are beyond doubt.

This is my conviction, and is based on my relations with him and the clear inference available from the judgment. I strongly feel that the public should
abolish the libellous traces from his reputation.

I belong to no party and am critical of infirmity in government, whenever I observe any flaw. But truth must be told. Everyone has a right to his reputation.

The main plea of the writer is that:

1. Ministers should be more careful in their dealings.

2. A minister is entitled to great assets.

3. People in high offices should be judged by higher standards.

4. The court judgment should be adequate enough to clear the minister's name and integrity.

Correct Answer :-

¢ People in high offices should be judged by higher standards.

26) Read the passage carefully and answer the question given below:
Oh, what a lovely credit crunch, it is turning out to be! Or, so it seems.

For all the doom and gloom on the economic front (the breaking news is that it is going to get bleaker over the coming months) many Britons, apparently,
are simply loving it: home-cooking, which means healthy food, is back in fashion; the mythically happy days when families ate together are here again with
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people re-discovering the lost art of conversation; and with socializing reduced to the odd must-attend leaving party parents are spending more “quality
time” with their children.

An unintended effect of the economic crisis, we're told, has been the return of domestic bliss evoking images of mum-and-dad-and-the kids all seated round
the dining table, sharing the home-cooked meal over a sparkling conversation and then retiring to the living room to watch the telly together or reading
aloud from their favourite book of the day.

Scenes like these (reminiscent of the classical happy American family in those old Hollywood movies - “Honey I'm back! Missed you! Where are the kids?”)
are reportedly becoming common place all over Britain as lack of enough dosh is forcing more and more people to stay at home - and make the best of their
forced confinement.

Can you infer the meaning of the slang word “dosh” in the passage?
1. Private transport

2. Warm clothing

3. Money

4. Physical energy

Correct Answer :-

» Money
27) Read the passage carefully and answer the question given below:

Oh, what a lovely credit crunch, it is turning out to be! Or, so it seems.

For all the doom and gloom on the economic front (the breaking news is that it is going to get bleaker over the coming months) many Britons, apparently,
are simply loving it: home-cooking, which means healthy food, is back in fashion; the mythically happy days when families ate together are here again with
people re-discovering the lost art of conversation; and with socializing reduced to the odd must-attend leaving party parents are spending more “quality
time” with their children.

An unintended effect of the cconomic crisis, we're told, has been the return of domestic bliss evoking images of mum-and-dad-and-the kids all seated round
the dining table, sharing the home-cooked meal over a sparkling conversation and then retiring to the living room to watch the telly together or reading
aloud from their favourite book of the day.

Scenes like these (reminiscent of the classical happy American family in those old Hollywood movies - “Honey 1'm back! Missed you! Where are the kids?”)
are reportedly becoming common place all over Britain as lack of enough dosh is forcing more and more people to stay at home - and make the best of their
forced confinement.

What is the main theme of the passage?

1. Rediscovering the lost art of conversation
2. Health foods in Briton

3. The economic downturn in Briton

4. Family life in the UK

Correct Answer :-

o Family life in the UK

28) Read the passage carefully and answer the question given below:
Oh, what a lovely credit crunch, it is turning out to be! O, so it seems.

For all the doom and gloom on the economic front (the breaking news is that it is going to get bleaker over the coming months) many Britons, apparently,

are simply loving it: home-cooking, which means healthy food, is back in fashion; the mythically happy days when families ate together are here again with
people re-discovering the lost art of conversation; and with socializing reduced to the odd must-attend leaving party parents are spending more “quality
time” with their children.

An unintended effect of the economic crisis, we're told, has been the return of domestic bliss evoking images of mum-and-dad-and-the kids all seated round
the dining table, sharing the home-cooked meal over a sparkling conversation and then retiring to the living room to watch the telly together or reading
aloud from their favourite book of the day.

Scenes like these (reminiscent of the classical happy American family in these old Hollywood movies - “Honey I'm back! Missed you! Where are the kids?”)

are reportedly becoming common place all over Britain as lack of enough dosh is forcing more and more people to stay at home - and make the best of their
forced confinement.
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According to the author, which one of the following is not one of the blessings of the economic gloom?
1. More of home cooked food

2. More love life

3. More family togetherness

4. Parents spending more time with children

Correct Answer :-

¢ More love life

29) Read the passage carefully and answer the question given below:

Mr. Viswom is a man of exemplary character, impossible to reach at any price. Forests of great value are secure under his ministerial supervision. Realty
contractors imputed a shady role to the minister in the Merchiston Estate episode. It was found to be without foundation and the minister was cleared by the
High Court in a powerful pronouncement. A perusal of the judgment confirming the favourable findings of the Sessions Judge should normally be enough to
liquidate all possible suspicions that were sought to be created to malign his name. His character is the straight minister's great asset.

That is why I wish to emphasize that whatever be one's view about the minister's ideology or the general reputation of the Forest Department, the
inalienable integrity and credibility of Mr. Viswom are beyond doubt.

This is my conviction, and is based on my relations with him and the clear inference available from the judgment. I strongly feel that the public should
abolish the libellous traces from his reputation.

I belong to no party and am critical of infirmity in government, whenever I observe any flaw. But truth must be told. Everyone has a right to his reputation.

‘What is the tone of the passage?
1. Defensive

2. Recriminatory

3. Ciritical

4. Accusatory

Correct Answer :-

¢ Defensive

30) Read the passage carefully and answer the question given below:

Oh, what a lovely credit crunch, it is turning out to be! Or, so it seems.

For all the doom and gloom on the economic front (the breaking news is that it is going to get bleaker over the coming months) many Britons, apparently,
are simply loving it: home-cooking, which means healthy food, is back in fashion; the mythically happy days when families ate together are here again with
people re-discovering the lost art of conversation; and with socializing reduced to the odd must-attend leaving party parents are spending more “quality
time” with their children.

An unintended effect of the economic crisis, we're told, has been the return of domestic bliss evoking images of mum-and-dad-and-the kids all seated round
the dining table, sharing the home-cooked meal over a sparkling conversation and then retiring to the living room to watch the telly together or reading
aloud from their favourite book of the day.

Scenes like these (reminiscent of the classical happy American family in those old Hollywood movies - “Honey I'm back! Missed you! Where are the kids?”)
are reportedly becoming common place all over Britain as lack of enough dosh is forcing more and more people to stay at home - and make the best of their
forced confinement.

How will you classify the writing?
1. Pedantic

2. Scholarly

3. Explanatory

4. Tongue-in-cheek

Correct Answer :-
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» Tongue-in-cheek

Topic:- General Sanskrit(L2GS)

1)
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Correct Answer :-

2 3reNeedy y ﬂw@g &: Tdeheu: G ?

. aely + Ulqd:

| HER + RO

R Held + U[d:
, HeT + 3via:
Correct Answer :-

_ T + 3{UTa:
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? ST 3 I Wfede: 3ERed |
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1
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